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QUESTION 1

On an Arista switch, what two commands can you use to write your changes from the running-configuration to the
startup-configuration? 

A. write 

B. copy running-config startup-config 

C. save 

D. save memory 

Correct Answer: AB 

 

QUESTION 2

What must be active on the VMware side in order for EOS to have visibility into vNIC counters? 

A. vSwitches must be used. 

B. Distributed switches must be used. 

C. vSphere must be used. 

D. vNIC counters are not supported in VMTracer. 

Correct Answer: A 

 

QUESTION 3

When configuring MLAG, Arista recommends that the trunk group command be used on the VLAN used for MLAG peer
communication. 

What is the purpose of the trunk group command? 

A. It groups all the trunks together so that they can traverse the peer-link properly. 

B. It groups the MLAG interfaces together so that they can be reported on both peers. 

C. It prevents the configured VLAN from leaking out onto other trunks. 

D. It ensures that the configured VLAN will be included on all trunks. 

Correct Answer: A 

 

 

QUESTION 4
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What is required in order for Multi-Switch CLI to be implemented? 

A. One or more Arista products with management xmpp enabled. 

B. an XMPP-based server such as EJabberd 

C. an instant messaging client such as Admium or Trillian 

D. an SSD drive to the extensive logging produced by this feature. 

Correct Answer: B 

 

QUESTION 5

Which of the following are valid interpreters with which to write ZTP scripts? 

A. #!/bin/bash 

B. #!/usr/bin/python 

C. #!/usr/bin/FastCli 

D. #!/usr/bin/perl 

Correct Answer: B 

 

QUESTION 6

Which of the following Arista switch series\\' support reversible airflow? 

A. 7150 

B. 7250QX 

C. 7010 

D. 7300 

Correct Answer: D 

Reference: https://www.arista.com/en/products/7300-series 

 

QUESTION 7

Which of the following programming environments is included in every version of EOS out of the box? 

A. Perl 

B. Python 

C. PHP 
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D. Ruby 

Correct Answer: B 

Reference: https://www.arista.com/en/products/eos 

 

QUESTION 8

What does the asterisk in the following output signify? 

A. The VLAN was created by VTP. 

B. The VLAN was created by default. 

C. The VLAN was created dynamically. 

D. The VLAN is scheduled for removal by VMTracer. 

Correct Answer: C 

 

QUESTION 9

On an Arista 7150-24, which of the following commands would successfully help you to determine which ports would be
subsumed within Ethernet1 configured at 40Gbps? 

A. Arista#show platform fm6000 agile-port map 

B. Arista(config-if-Et1)#show platform fm6000 agile-port map 

C. Arista(config-mgmt-agile)#show platform fm6000 agile-port map 

D. Arista(config-if-Et1)#show platform petra agile-port map 

Correct Answer: A 

Reference: https://www.arista.com/assets/data/pdf/user-manual/um-eos-4172f/Chapters/um-
eos4172f_Ethernet%20Ports.pdf (page 57) 

 

QUESTION 10

VMTracer requires which of the following? 

A. Root-level access to vCenter. 
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B. Read-level access to vCenter. 

C. Read/write-level access to vCenter. 

D. VMTracer does not require a username on vCenter. 

Correct Answer: A 

 

QUESTION 11

The VXLAN spec allows for two implementation types. One uses multicast. What is the other one called? 

A. Non-multicast replication 

B. BUM-Replication 

C. Fore-end Replication 

D. Head-end Replication 

Correct Answer: B 

Reference: https://eos.arista.com/vxlan-without-controller-for-network-virtualization-with-arista-physicalvteps/ 

 

QUESTION 12

Which of the following are not valid boot-config file entries? 

A. NETGW=192.168.1.1 

B. IMAGE-flash:EOS-4.12.1.swi 

C. SWI=flash:EOS-4.12.1.swi 

D. SWIX=flash:EOS-4.12.1.swi 

Correct Answer: B 

Reference: https://books.google.com.pk/books?id=SFMuNdeVXswCandpg=PA235andlpg=PA235anddq=Arista +EOS+
boot-config+file+entriesandsource=blandots=Wzz7--D5msandsig=4jroImKwuPHiL1waXg6W2wlRogandhl=enandsa=Xa
ndredir_esc=y#v=onepageandq=Arista%20EOS%20boot-config%20file%20entriesandf=false 

 

QUESTION 13

Which of the following Arista switches support LANZ? 

A. 7010 

B. 7150 

C. 7500E D. 7048T 
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Correct Answer: D 

Reference: https://eos.arista.com/latency-analyzer-lanz-architectures-and-configuration/
#5_LANZ_lite_7500_and_7048T 

 

QUESTION 14

Complete this sentence: In an Arista MLAG configuration, interfaces on both devices participate in a ___. 

A. group conversation about the fastest Layer 3 routing protocol convergence scenarios 

B. negotiation over BGP router ID priorities 

C. distributed port channel, enabling all active paths to carry data traffic while maintaining the integrity of the STP
topology 

D. disabled Layer 1 fiber optic speed negotiation 

Correct Answer: C 

 

QUESTION 15

How might you guarantee the order of operation for multiple Event-Manager event-handlers should they trigger at the
same time? 

A. With the event-handler priority parameter. 

B. There is no guarantee of action ordering in this scenario. 

C. By using the delay option. 

D. By using another feature. 

Correct Answer: C 

Reference: https://eos.arista.com/syslog-triggered-event-scripts/ 
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